



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) - \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{2}{5} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{5}{6}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{71}{12} = 5\frac{11}{12}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{6}\right) = \frac{7}{12}$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} = \frac{13}{80}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(\frac{1}{6}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} = 0$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{3}{5} = \frac{12}{5} = 2\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{2}{5} = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \frac{1}{6} = \frac{215}{6} = 35\frac{5}{6}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{3}\right) - \frac{3}{4} = \left(-\frac{13}{12}\right) = \left(-1\frac{1}{12}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{128}{5} = 25\frac{3}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \left(-\frac{7}{5}\right) = \left(-1\frac{2}{5}\right)$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{2}{5} = \frac{21}{10} = 2\frac{1}{10}$$